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(WA7:pH: 72U, KA % CFU/100mL, R =ESE: 1 S/cm, ZOfth :mg/L)
SHFITAEEEIE, (ALBOD, CODIZT5%ME ., KM HEE190% 1

WE A Z A A
H A, I, EPAA T, EHA

7 b e 0

VTl L@ Tk

pH 8.2 7.1
DO 8.2 —

4 [BOD 1.0 2.6
% [CoD 3.4 5.9
moss 1 4
g [ RIBEE 28 6
m |EER 0.23 1.3

[ ENE 0.011 0.033
X 0.002 —
=)\ Tx)—)L <0.00006 —
LAS <0.0006 —
IRV A <0.0003 —
BT ND —
0 <0.005 —
N ZA=DN <0.01 —
[ <0.005 —
Ha 7k #R <0.0005 —
A TV KR — -
> RIEArE 7 ==L ND —
e AN <0.002 —
e [DER(ES <0.0002 —
o 1,2-v/aaxly <0.0004 —
" 1,1-v /o FLy <0.002 —
% YA-1,2-Yunxfly <0.002 —
Z', 1,1,1-NJunxhy <0.0005 —
ﬁg 1,1,2-N)/noxsy <0.0006 —
+ [SYEEESA%S <0.0005 —
% ST <0.0005 —
g 1,3—7ma7u~"y <0.0005 —
g LA-H X <0.005 —
wm | ZV7h <0.0006 —
g =T <0.0003 —
FA~HNT <0.002 —
NP <0.001 —
L <0.002 —
>o% 0.09 —
[ESES 0.04 —
AN AR A R <0.01 —
AR %E <0.05 —
j; Jal <0.02 —
2=/ )V — -
] <0.01 —
VA — —
a7 4)va 3.1 —
% |TOoC 1.9 —
O |EERUREE — —
i [HEFRAA — —
D | A S A — —
H O TUE=THER 0.02 —
ERN PN T2 - —
FJEDO — 1.7
IS 4.4 —
7 |EPN — —
B IRV AT VT ER — —
o [4-t—A7F 7= /—\ <0.0001 —
Ho 7= <0.002 —
H [24-27om7=/—1] <0.003 —

(HAZ:pH: 221, KFi# %L CFU/100mL, FEAZESR: 1 S/cm,
Z O :mg/L)
SCHE AT, (LU KB AEITI0%(E, BOD, CODIZT5%fE



